scde | "Bom
celsiug ¢°| @ C°

1

fahrenheit




= F6Q foWr
- 760 (mm Hg ) ol x Jodls

M —

0 Ave. € Xponsiok

A A=20) A8
s <

1 Valume

AV = (3

P

: o . .
M A v

o’ o ‘1’..

]



@1

| B‘*Ogﬂﬂf fovce =B

“ou}mj' mQ)\M"
- Swbmergecl =%/t stashl

o cﬁl&%

=L it
=3 fraction of S\«bmea’

« Flow rate(@ ) =

ye 1S &%

: = 25 =% (Vs whil
e Q = >

H Q= Qe

AV = A 6]

1
..'.' b
*
.



el

o Bemodl 4 ei““’bh; | '
., & = ’,'. PR L -.4_:_";: | !I“-‘- ‘

(PC. f%}&" ‘/ZPV‘ ._ sh ' U"; -1’ /2P,
i, ar veqr (v

7 Po.*fa‘}gz D

Py = Pa *fﬁ
) =>ventyri ube §
ly Pt 1720 %
i ~

Vz = A —




F=(Va
"?:”bb 3‘
Pa.-S

O lominay flow | I
w e
th Q-H:‘Je

V= 1/2 Vmox

EF:APW
R7L

Q=-av




DFIQU) Resisw o) qu’u,
= sy fue gt ',m)\@ J.n)\ S £

Rp-ép < z its unit IS
Pa-Slm 3

O Cohesive force in h fsQ Gl
D Sudace fension= BT




| Ol contoct angles ancf cpillarity
| vl 9’;"/:“5 =Y }JC‘:PW 9

IF © <96 warey will rise—sh+
e >% o ~» depresse sp-

If @=98 «~ ~ wkethey vise

ney Fall — @
'U\.\)\Q? L
Fc,qsg =w e 5

| { ,;‘,:-:‘;»

e ‘

3'—"19}/” ¥L Cosp =Mmg
. ‘(ZYV)CUSQ:

T
OCoulmb’s lawg
F=(K)1%) 1%
e

e

o flecrric Fieled 8



O Electric Current

- \ a
L - ~"\~N,_?'.—'-.__"."\,"~ laar=a
g, oo
A b

> n“: .




OSrells law
W, Sl'he.’-"

',

e =9






Chu31

l a'e lLe -‘. i.’ All
" e | " (9.8

174 po !



